Scientific Notation

1. 4,250,000 =

34,500,000 =

> 470,000 =

- 5,200,000 =

9. 4,700 =

117,100 =

13- 99,000 =

15. 520 =

17.5,300,000 =

195,800 =

-

2.

10.

12.

14.

16.

18.

20.

Worksheet 7 - Provide the scientific notation for the value.

53 =

41,000 =

380,000

4,300 =

880 =

974,000

882,000

6,100 =

47 =

710,000

http://worksheetplace.com

Score:

/20




Scientific Notation Name

1. 4,250,000 = 4.25 x 10°

34,500,000 = 4.5 x 10°

> 470,000 = 4.7 x 10°

7~ 5,200,000 = 5.2 x 10°

% 4,700 = 4.7 x 10°

117,100 = 7.1 x 10°

13- 99,000 = 9.9 x 10*

15520 = 5.2 x 10°

17.°5,300,000 = 5.3 x 10°

195800 = 5.8 x 10°

-

2.

10.

12.

14.

16.

18.

20.

Worksheet 7 - Provide the scientific notation for the value.

53 = 5.3 x 10*

41,000 = 4.1 x 10*

380,000 = 3.8 x 10°

4,300 = 4.3 x 10°

880 = 8.8 x 107

974,000 = 9.74 x 10°

882,000 = 8.82 x 10°

6,100 = 6.1 x 10°

47 = 4.7 x 10*

710,000 = 7.1 x 10°
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